SAMPLE PAPER_180224

PRACTICE PAPER 08 (2023-24)
CHAPTER 01,02,03 & 04

SUBJECT: MATHEMATICS MAX. MARKS: 40
CLASS: IX DURATION: 1% hrs

General Instructions:

(i). All questions are compulsory.

(if). This question paper contains 20 questions divided into five Sections A, B, C, D and E.

(iif). Section A comprises of 10 MCQs of 1 mark each. Section B comprises of 4 questions of 2 marks
each. Section C comprises of 3 questions of 3 marks each. Section D comprises of 1 question of 5
marks each and Section E comprises of 2 Case Study Based Questions of 4 marks each.

(iv). There is no overall choice.

(v). Use of Calculators is not permitted

SECTION - A

Questions 1 to 10 carry 1 mark each.

1. What is the value of (256)°1¢ X (256)°09?
(@4 (b) 16 (c) 64 (d) 256.25
2. 6 x 27 is equal to:
(@) 92 (b) 33 (c) 22 (d) 93
3. The value of V10 times V15 is equal to
(a) 576 (b) \25 (c) 105 (d) V5
4. The value of f(x) =5x —4x%+ 3 when x = -1, is:
(@3 (b) -12 (c) -6 (d) 6
5. One of the linear factors of 3x>+ 8x + 5 is
(a) (x+1) (b) (x-2) (€) (x+2) (d) (x-4)
6. The coefficient of x in the expansion of (x — 3)% is
(@1 (b) 9 (c) 18 (d) 27
7. Points (1, -1), (2, -2), (4, -5), (-3, -4)
(@) Second quadrant (b) Do not lie in the same quadrant
(c) Third quadrant (d) Fourth quadrant

8. Point (3, 4) lies on the graph of the equation 3y = kx + 7. The value of k is:
(a) 4/3 (b) 5/3 (c)3 (d) 713

In the following questions 9 and 10, a statement of assertion (A) is followed by a statement of
Reason (R). Choose the correct answer out of the following choices.

(@) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.

(c) Ais true but R is false.

(d) Ais false but R is true.

9. Assertion (A): 2 + V3 is an irrational number.
Reason (R): Sum of a rational number and an irrational numbers is always an irrational number.

10. Assertion (A): The point (-2, 0) lies on y -axis and (0, 4) on x -axis.
Reason (R): Every point on the x -axis has zero distance from x -axis and every point on the y -
axis has zero distance fromy -axis.
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SECTION-B

Questions 11 to 14 carry 2 marks each.

11. Find two different irrational numbers between the rational numbers 5/7 and 9/11.
12. Find the value of the polynomial 5x — 4x? + 3 at x = 2 and x = —1.
13. Find the value of 9x? + 4y? if xy = 6 and 3x + 2y = 12,

14. Without plotting the points indicate the quadrant in which they will lie, if
(i) the ordinate is 5 and abscissa is — 3
(i1) the abscissa is — 5 and ordinate is — 3
(ii1) the abscissa is — 5 and ordinate is 3
(iv) the ordinate is 5 and abscissa is 3

SECTION - C

Questions 15 to 17 carry 3 marks each.

15. Locate V3 on the number line. Write steps also.

16. Show that the points A (1, 2), B (-1, — 16) and C (0, — 7) lie on the graph of the linear equation
y=9x-7.

17. Find the value of aand b if > V2 =a+by2
3+\/§
SECTION-D

Questions 18 carry 5 marks.
18. Find the value of x3 +y3 + 23 - 3xyz if X2 +y?+ z2=83andx +y+z =15

SECTION — E (Case Study Based Questions)

Questions 19 to 20 carry 4 marks each.

19. Students of class 1X are on visit of Sansad Bhawan. Teacher assign them the activity to observe
and take some pictures to analyses the seating arrangement between various MP and speaker
based on coordinate geometry. The staff tour guide explained various facts related to Math's of
Sansad Bhawan to the students, students were surprised when teacher ask them you need to
apply coordinate geometry on the seating arrangement of MP's and speaker.

Calculate the following refer to the below image and graph. Answer the following questions :
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(i) What are the coordinates of position ‘F’? (1)

(if) What are the coordinates of position ‘D’? (1)

(ii1) In which quadrant, the point ‘C’ lie? (1)

(iv) Find the perpendicular distance of the point E from the y-axis. (1)

20. Sanjay bought 5 notebooks and 2 pens for Rs. 120. He told to guess the cost of each notebook
and pen to his friends Mohan and Anil. Sanjay has given the clue that both the costs are positive
integers and divisible by 5 such that the cost of a notebook is greater than that of a pen.

Now, Mohan and Anil tried to guess.

Mohan said that price of each notebook could be Rs. 18. Then five notebooks would cost Rs.90,
the two pens would cost Rs.30 and each pen could be for Rs. 15.

Anil felt that Rs. 18 for one notebook was too little. It should be at least Rs. 20. Then the price of
each pen would also be Rs.10.

(i) Form the linear equations in two variables from this situation by taking cost of one notebook
as Rs. x and cost of one pen as Rs. y. (1)

(it) If the cost of one notebook is Rs. 15 and cost of one pen is 10, then find the total amount. (1)
(iii) If the cost of one notebook is twice the cost of one pen, then find the cost of one pen?

(iv) Write the standard form of linear equations y = 4 in two variable.

Page - 3 -



	SAMPLE PAPER_180224
	SUBJECT: MATHEMATICS MAX. MARKS: 40
	General Instructions:

	SECTION – A
	SECTION – B
	SECTION – C
	SECTION – D
	SECTION – E (Case Study Based Questions)

